HW Answers 10.3 Ex. 14,15,17-19,22,23,27 p.469

14, The value of a collectible baseball cardis increasing at a
Tate of 0.5% per vear, In 2000, the card wasworth $1350,
Hnd the walue of the card in 2013,
y=al1+r) = 1350{1.005)
¥ =1350{1.005)" = 1440.43
After 13 years, the card will be worth
approximately $1440.43,

Domain: {x|0 <-x <7 o=} Range: {y| ¥ == 0}
The y-interceptis 1350.00, the original value of
the card in 2000,

15, The value of an airplane is depreciaing af a rate of 7% per vear
In 2004, the airplane wasworth $51.5 million, Hnd the value of
the arplane in 2013,

y=all—ri‘=515(0.93)
y=515(0.93)" = 26.8

After 9 years, the airplane will be worth approximately
$26.8 million,

Domain: {x|0 < x <2 o>} Range: {y| ¥ == 0}
The y-intercept is 51.5, the original value of the airplane
in 2004,

17. Thewvalue of a couch is decreasing at arate of 6.2% per vear. In
2007, the couch wasworth $1232 Hnd the value of the couch
2014,

y=all—r)" =1232(0.938)'
y=1232(0.938) == 787.10

After 7 years, the couch will be worth approximately
$787.10.

Domain: {x|0 < x <2 oo} Range: { | ¥ == 0}
The y-intercept is 1232, the original value of the couch
in 2007,
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The population of a town 15 increasing at a rate of 2.2% per 1 f
vear, In 2001, the town had a population of 34,567, Find the 30,0007 o a0 899E9,42,_046] -
population of the town in 2018, T8 36899 %

: : RN = SRR R
y=all+r) =34567(1.022) LR i (f, 30,388)
y = 34,567{1.022)" = 50,041 & 0 34387
After 17 years, the town will have about 50,041 people. §' 20,000 4
Domain: {x|0 <2 x <2 co} Range: {y| y = 0} 10.000 1
The y-intercept is 34,567, the original population of the ol ;
town in 2001, -
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Ahouseislosing value at arate of S.4% per vear, In 2009, ¥
ﬂieznggse wasworth $131.000, Hnd the value of the houge 150,000 /Ul 131'&??)1 7.334)
HEns : 21200001 g
y=all—r)"=131,000{0.946) & (1 123 076 e
y=131,000{0.946)" = 75,194 g 900007 (ATOS08Y 1)
After 10 years, the house will be worth about $75,194, % 60,000 4
Domain: {x|0 <l x <2 oo} Range: {y| ¥ == 0} = 20 000"
The y-intercept is 131,000, the original value of the '
house in 2009, HEEEEEEREIA
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22, Alt) = 9{0.4) and B(t) = 0.6{1.4)

The value of A(t) is decreasing. The value of B(¢) isincreasing. The initial
value of A(t) is greater thanthe initial value of B(t). However, after about
2.2 units, the value of B(t) becomes greater than the value of A(t).

23, Alt) =5470.32) and Bit) = 324(3)

The value of A(t)is decreasing. The value of B(t) isincreasing. The initial
value of A(t) is greater than the initial value of B(t). Howaever, after about
.2 units, the value of B{t) becomes greaterthan the value of A(t).

7. ilake a Conjecture The value of a certain car can be modeled by the funchon
¥ = 180000, 76), where £ istime in years, Will the value of the function ever be 0f

The value of the function will never be 0 because the right side of the
functionis a product of positive numbers. Although the value can
become extremely close to 0, it can never equal 0.



